= I 4, +1rZa,ﬂ;:ib.,

2 b=
, . o L
= | (S dx="1 a2, + |\ :
2T g t Q_Z WA 2v3y

.Y Em,L e
7 E'YK"H neach Mo

e,
o
Q._;)"—‘- 1 (™ SR) " dx (Fvrer Trms{“p_r)
/ 2 Jo
FR= (7 gla) e "% du (Lwtesc Boriee Traoshn
Lo V'
gfo

C’M'rnvv.w SV a-§ Waves,

%ﬁ)r-‘?'f:;i‘cx):) S0

r -)-m

S=% [Flx) = gm S )™ dx

-0




L &(x')-' (1 '11'4X<T"‘

——— r—— — e cae e

(o, ow

%’E—S—’] - tsv i § [ } c-)ot)( l

) S
e 1 dx

1

O

| B 4 -xm\:i/ \ 7 X
n -

N [(ad
s "
2 $xN= e
o3l |y Hive ?f[-i‘—'l:-' | C F' F‘KXAX
2 ia
'.’sa‘xlzm‘l':‘ ve :’t\-: “’“\m;,: , = ‘ (mfeéxﬂe)dij e ‘ C f X(-c‘ovt‘b(
1 N LA ) 8

= ‘ @ (‘.P«H)xdx‘ :lg' ll‘m Eaad P
217 )

21“ &
— - > AR
29\ vid) o 2m(l-dg)
e S i Q

Irl+er)  ZeL\-4g)

|

Ll-dg) v [l +ig) =

Zrr (1t o) )




B $(x) ()
( 755

5 - 3 Yar

X X
3. 3= e ey
FLil=_1 (T e ey
14

r;




4 LK

=) 87" ¢( )c‘\*("*“)alu
o

= 0 P S10).

()




